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e 5 £ 5l 5 S B 5 E:S it
&5 & | 112,533 131,698] 244, 231 12,198 10, 693 22,891 10. 84 8. 12 9.37
2h i i 66,910 80,290 147,200 7,747 7,188 14,935]  11.58 8.95 10.15
N =] i 92,579 102,942 195, 521 10, 382 8,950 19,332 11.21 8.69 9.89
= A\ i 13, 321 15, 561 28, 882 1,686 1,515 3,201  12.66 9.74]  11.08
A OO OB W 21,396 25,928 47,324 2,359 1,961 4,320 11.03 7.56 9.13
+ M @B W 24, 821 27,527 52,348 2,904 2,495 5399 11.70 9.06] 10.31
= iR i 16,419 16, 864 33,283 2,114 1,991 4105  12.88] 11.81| 12.33
& =) i 24,094 25, 699 49,793 2,538 2,219 47571 10.53 8.63 9.55
> AN B 13,252 15,197 28, 449 1,093 884 1,977 8.25 5. 82 6.95
x n i 12, 502 14, 604 27,106 1,299 1,201 2,500  10.39 8.22 9.22
el & st| 397,827 456,310 854,137 44,320 39,097 83,417  11.14 8.57 9.77
x ] BT 4,584 5,098 9, 682 794 768 1,562  17.32] 15.06] 16.13
5 A HT 1,161 1,304 2,465 247 221 468]  21.27]  16.95|  18.99
3 H #t 1,157 1,279 2,436 123 87 210]  10.63 6. 80 8.62
5 5 & H 2,630 2,908 5,538 427 424 851l 16.24| 1458  15.37
B o2 & B 9,532 10, 589 20, 121 1,591 1,500 3,001 16.69] 1417 1536
% 5 R H 4,158 4,747 8,905 713 786 1,409 17.15| 16.56] 16.83
B i BT 3,455 3,902 7,357 479 505 o84] 13.86] 12,94 13.38
B oE B OB B 7,613 8,649 16, 262 1,192 1,291 2,483] 15.66] 14.93| 15.27
w B B # 559 631 1,190 77 61 138]  13.77 9.67] 11.60
hoE 8 OB it 559 631 1,190 77 61 138]  13.77 9.67] 11.60
% s HT 5,913 6,927 12, 840 709 667 1,376]  11.99 9.63] 10.72
X e HT 3,914 4,703 8,617 637 692 1,329 16,27 14| 1542
B & # # 3,159 3,596 6, 755 387 357 744]  12.25 9.93 11.01
Mo 8 B 12, 986 15, 226 28,212 1,733 1,716 3,449 13.35] 1127 1223
® H BT 5,394 6,493 11,887 630 634 1,264  11.68 9.76] 10.63
B | HT 5, 201 5, 986 11,187 682 623 1,305 1311 1041 11,67
& B HT 4,618 5, 264 9, 882 366 325 691 7.93 6.17 6.99
o= & B i 15,213 17,743 32, 956 1,678 1,582 3,260] 11.03 8.92 9.89
(32 T T} 5,437 6,129 11,566 701 591 1,202  12.89 9.64] 11.17
+ =] HT 6,512 7,196 13,708 914 802 1,716 1404  11.15]  12.52
~ =] BT 4, 461 4,753 9,214 557 472 1,029]  12.49 9.93 11.17
# i BT 1,979 1,984 3,963 242 215 4571 1223 10.84]  11.53
" 1 BT 7,272 7,854 15,126 952 870 1,822 1309 11.08] 12.05
A | 4,792 4,027 8,819 606 570 1,176] 12,65 14.15]  13.33
B L 5 € 9,996 10, 867 20, 863 1,358 1,293 2,651  13.50] 11.90] 12.71
£ 4 B &t 40, 449 42,810 83, 259 5,330 4,813 10,143 13.18]  11.24] 12,18
X ] BT 2,363 2,254 4,617 212 211 423 8.97 9.36 9.16
" bt it 2,900 2,705 5, 605 479 467 946 16.52| 17.26] 16.88
B OB O E # 837 867 1,704 136 133 260l  16.25] 15.34]  15.79
% # it 923 905 1,828 224 218 442l 242711 24.00] 2418
T i+t #Hm E 7,023 6, 731 13,754 1,051 1,029 2,080 14.97] 15.29] 15.12
= ] AT 4,195 4,614 8,809 855 822 1,677  20.38] 17.82] 19.04
Ea =] HT 7,292 7,941 15, 233 996 967 1,963  13.66] 12.18] 12.89
M F AT 2,348 2,536 4,884 331 355 686] 14.10] 14.00] 14.05
2l £ BT 7,502 8, 361 15, 863 877 848 1,725]  11.69| 10.14] 10.87
5 t ) 5, 884 5, 863 11,747 762 687 1,449 12,95  11.72]  12.34
# 428 # 1,095 1,128 2,223 177 176 353 16.16] 15.60] 15.88
= F B & 28, 316 30, 443 58, 759 3,998 3,855 7,853 14.12]  12.66] 13.36
i) # B 121, 691 132,822| 254,513 16, 650 15, 847 32,497 13.68] 11.93] 1277
=] st 519,518 589,132 1,108, 650 60, 970 54,944 115,914  11.74 9.33]  10.46
AT B R CE 5as q7a|  606,979| 1,140,153 91, 751 89,196|  180,947] 17.21| 14.70] 15.87
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